

MARCH 25, 2015 HEARINGS

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

ROBERT PANZICA, D/B/A PANZICA CONSTRUCTION

ORDER

The Committee voted unanimously that Robert Panzica, d/b/a Panzica Construction shall pay a civil penalty of \$400.00 per day for 5 days for a total of \$2,000.00 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued to prevent Robert Panzica, d/b/a Panzica Construction from performing work in violation. Robert Panzica, d/b/a Panzica Construction shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

JAMES EDWARD MCGARRAH, D/B/A ACE ROOFING AND CONSTRUCTION

ORDER

The Committee voted unanimously that James Edward McGarrahan, d/b/a Ace Roofing and Construction shall pay a civil penalty of \$400.00 per day for 3 days for a total of \$1,200.00 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued to prevent James Edward McGarrahan, d/b/a Ace Roofing and Construction from performing work in violation. James Edward McGarrahan, d/b/a Ace Roofing and Construction shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

MICHAEL QUALLS, D/B/A MIKE QUALLS CONSTRUCTION

ORDER

The Committee voted unanimously that Michael Qualls, d/b/a Mike Qualls Construction shall pay a civil penalty of \$500.00 for misconduct for violation of Section 17-25-510(c)(3) payable to the Committee within twenty (20) days. The Committee further ordered that the license of Michael Qualls, d/b/a Mike Qualls Construction is hereby suspended until the code violations on the project are corrected. Michael Qualls, d/b/a Mike Qualls Construction shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

DUSTIN ANDREWS, D/B/A ARK HOME IMPROVEMENT

ORDER

The Committee voted unanimously that Dustin Andrews, d/b/a Ark Home Improvement shall pay a civil penalty of \$400.00 per day for 4 days for a total of \$1,600.00 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued to prevent Dustin Andrews, d/b/a Ark Home Improvement from performing work in violation. Dustin Andrews, d/b/a Ark Home Improvement shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

MICHAEL MOORE, D/B/A MM METAL ROOFING

ORDER

The Committee voted unanimously that Michael Moore, d/b/a MM Metal Roofing shall pay a civil penalty of \$400.00 per day for 5 days for a total of \$2,000.00 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued to prevent Michael Moore, d/b/a MM Metal Roofing from performing work in violation. Michael Moore, d/b/a MM Metal Roofing shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

ARKANSAS RESIDENTIAL CONTRACTORS COMMITTEE

VS

DENNIS LITTLE, D/B/A LITTLE CONSTRUCTION FIRM

ORDER

The Committee voted unanimously that Dennis Little, d/b/a Little Construction Firm shall pay a civil penalty of \$400.00 per day for 12 days for a total of \$4,800.00 for violation of Section 17-25-505 payable to the Committee within twenty (20) days. The Committee further ordered that a cease and desist order be issued to prevent Dennis Little, d/b/a Little Construction Firm from performing work in violation. Dennis Little, d/b/a Little Construction Firm shall refrain from bidding on or performing work as a residential contractor prior to being licensed with the Residential Contractors Committee.

SETTLEMENT AGREEMENTS

ID #	DBA Name	Order
40701	Steve Chadwick	\$600.00 reduced to \$150.00 if no further violations for 2 years
27143	Taggart Design & Build, LLC	\$200.00
15994	Chance Contractors, Inc.	\$200.00
27701	Pursley Construction Management LLC	\$200.00
22283	Bill Alexander	\$2,000.00 reduced to \$1,000.00 if no further violations for 2 years
40703	Lucas Patton & Travis Hagar DBA - Trav & Luk's Tree Service, Carpentry & More	\$3,200.00 reduced to \$200.00 if no further violations for 2 years and pay any judgment obtained by the homeowner
8862	Simmons & Sons Construction, LLC	\$800.00
40706	Richard Welch	\$2,000.00 reduced to \$1,000.00 if no further violations for 2 years
40468	RDR Construction, L.L.C.	\$100.00
29722	Bobby Lockhart	\$2,800.00 reduced to \$1,400.00 if no further violations for 2 years
40713	Zack Smith Construction, Inc.	\$2,300.00 reduced to \$1,300.00 if no further violations for 2 years
31704	Danny McDaniel	\$400.00 reduced to \$200.00 if no further violations for 2 years
40714	Thomas Gann DBA - Stone World	\$10,000.00 reduced to \$400.00 if no further violations for 2 years and satisfy home owner

40717 Stacy Keith Houston \$200.00